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3.1.1 OctaveOO0OOOOODO

Octave DO00OO0ODODODOODOOOOOOOOOOOODOOOOOODOOO
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a=[2,4,6,8,10,12,14,16];
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function y=An(n)
y=round (n) *2;

endfunction
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octave-3.0.0:46> A(1,1)=An(1)
A= 2

octave-3.0.0:47> A(1,2)=An(2)
A =

octave-3.0.0:48> A(1,3)=An(3)

octave-3.0.0:49> A(1,4)=An(4)

octave-3.0.0:50>
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octave-3.0.0:50> source("an.m");

octave-3.0.0:51> for(i=1:10) A(1,i)=An(i); endfor
octave-3.0.0:52> A

A =

2 4 6 8 10 12 14 16 18 20

oobobobooboobooboobooboboboobooboobooon

3.1.2 0000
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#suml.m

X=[1;2;3;4;5;6;7;8;9;10];

sum=0;

for(i=1:10)
sum=sum+X (i, 1);

endfor

sum
O000000000O00OctaveD OO OQ
Octave:> source("suml.m")

source() 000000 ()0000DO0OO0OO0OOUOOOOODOOUOOOOOO
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#sum?2.m

function sum=sum?2 (X)
[rows, cols]=size(X);
sum=0;

for(i=1:rows)
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sum = sum+X(i,1);
endfor

endfunction
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Octave:> X=[1;2;3;4;5;6;7;8;9];
Octave:> source("sum2.m")

000000000000X=(1,2;34;56;..]0000000000000
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#sum3.m
function sum=sum3(X)
[rows,cols]=size(X);
sum=zeros(1,cols);
for(i=1:rows)
for(j=1:cols)
sum(1,j)=sum(1,j)+X(1i,j);
endfor
endfor

endfunction

OOO0OO0O0O0O0OD0D0OD0OD0ODD0DOsum O rowsxeolsOOODOOOOOOOOOO
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O00obOoo0ooobOoooon0Oon avglm OOOOO

#avgl.m
function a=avgl(X)
[rows,cols]=size(X);
a=zeros(1,cols);
for(i=1:rows)
for(j=1:cols)
a(l,j)=all,j)+X(,5);
endfor
endfor
for(j=1:cols)
a(1,j)=a(l,j)/rous;
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endfor

endfunction

goboooobooooooobooobooboboooobooooboboooooo
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#seriesl.m

n=100;

cols=3;

a=3;

X=zeros(n,cols);

for(i=1:n)
for(j=1:cols)

X(i,j)=a*i+(j-1);

endfor

endfor

avgl 0 sum3 000000000000 Octave 000000 mean(),sum()
0000000000o0o0o00o0 (32000)000000

good

avglm OO0Oj=lcols000000200000000000000

3.1.3 0OOdOdn
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00000 matl.m

function C=mati(A,B)
[rowl,coll]l=size(A);
[row2,col2]=size(B);
if(coll !'= row2)
printf ("type mismatch.\n");
return;
endif
C=zeros(rowl,col2);
for(i=1:rowl)
for(j=1:col2)
for(k=1:coll)
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i,j,k
C(i,j)=C(i,j)+A(i,k)*B(k,j);
endfor
endfor
endfor

endfunction
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ap =3k —2 (3.1)
Dooooo

b =4F -3 (3.2)
O0000kO00000000000000003.10000000000000

googoboos20bobobooboobooboobooboon
gboboobooaoboobooboobobboboan

Sk = %n(n +1) (3.3)
k=1
ﬁiﬁ = éMn+D@n+D (3.4)
k=1
Yok = ﬁ;;%) (3.5)
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3.2.1 0OO0OOO
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Tpy1 =Tpx (1+a)—p (3.6)
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D > azy, (3.7)
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Tt — %’ = (1+a)(w,— = (3.8)
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#moneyl.m
#parameters
L=100;
M=48;
RY=0.05;
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RM=RY/12;

#x=5;

#inital condition
loan=L;

sum=0;

#main loop

for(t=1:M)
loan=loan* (1+RM) ;
loan=loan-x;

# printf("%d %f\n",t,loan);
sum=sum+x;
loan2(1,t)=1oan;
if (loan < 0)

back=loan*-1;
printf ("payback complete in %d months. Balance=Yf\n",t,back);
sum=sum+loan;
break;
endif

endfor

if (Loan>0)
printf ("payback not complete in %d months\n",M);

else
sum
total_interest = sum-L

endif

#plot(loan2)

oono

octave:84> x=3;

octave:85> source("moneyl.m")

payback complete in 36 months. Balance=0.112783
sum = 107.89

total_interest = 7.8872

g0o0o0o0o0oobo0ooooooooooooooooo4o0ooooon
O0000000O0sumO0000OOtotallinterest 000000000000 DO0O
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